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Question Number : 1 Question Id : 146587601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Chhattisgarh is sole producer of ore in India.
Options :

1465872401. * Dolomite

1465872402. * Limestone

1465872403. * Bauxite

1465872404. ¥ Tin

Question Number : 1 Question Id : 146587601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

i9r|hli-l‘lc§,‘1-llidﬁ HYIh D[ UhHA JdIgd %I
Options :

1465872401, % SIAMSC

1465872402, % AT TR
1465872403, % SiaISc




1465872404, ¢ fe

Question Number : 2 Question Id : 146587602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to Census Report of 2011, the total literacy rate of Chhattisgarh is
Options :

1465872405. ¥ 70.28%

1465872406. # 64.66%

1465872407. # 80.27%

1465872408. # 77.38%

Question Number : 2 Question Id : 146587602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2011 BT STUMT ROE & 3IER, TG BT Bl &Rl & gl
Options :

1465872405. ¥ 70.28%

1465872406. # 64.66%

1465872407. # 80.27%

1465872408. # 77.38%

Question Number : 3 Question Id : 146587603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Sarabhpurias, Panduavanshi, Somvanshi, Kalchuri and Nagvanshi rulers dominated the Chhattisgarh region, in ancient times, between:
Options :

1465872409. ¥ the sixth and twelfth centuries CE

1465872410. * the second and third century BCE

1465872411. * the second and fourth century CE

1465872412. # the fourteenth and seventeenth century CE



Question Number : 3 Question Id : 146587603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

PIEIREIRE] & o TRUYRET, uigast, SHaRl, Hae! iR ATaRh IS 3 ST & W ¥ ot Tl
Options :

1465872409. ¢ 3! 3R TREd YdTsd! CE

1465872410, % GO 3R RT YdTsd! BCE

1465872411, % TR MR Tl vraTec! CE

1465872412, % dicgal 3R J=gal Xdled! CE

Question Number : 4 Question Id : 146587604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who among the following was the last king of separate Raigarh State?
Options :

1465872413. # Takhat Singh

1465872414. # Beth Singh Maharaj

1465872415. # Beth Singh, Dilip Singh

1465872416. ¥ Chakradhar Singh Maharaj

Question Number : 4 Question Id : 146587604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
frafafad # 9 S gu® IaT1g Tsg & Sifaw e A2
Options :

1465872413, % T g

1465872414. # 9y Rig AR

1465872415, * 9y g, faeiu Rig

1465872416. ¢ TheR Rig H8RIS

Question Number : 5 Question Id : 146587605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many districts were carved out of the state of Madhya Pradesh in order to create a separate state of Chhattisgarh?
Options :

1465872417. # 20

1465872418. * 18

1465872419. ¥ 16

1465872420. * 14

Question Number : 5 Question Id : 146587605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TG P 3T T I o o8 He U= Iog I foba fora forg 7
Options :

1465872417. * 20

1465872418. * 18

1465872419. ¥ 16

1465872420. * 14

Question Number : 6 Question Id : 146587606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

With which district of Chhattisgarh is the Gammatiha folk dance associated?
Options :

1465872421. ¥ Durg

1465872422. *# Rajnandgaon

1465872423, # Dhamtari

1465872424, * Bemetara

Question Number : 6 Question Id : 146587606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



THIET Al T BTG o by forel I aferd g2
Options :

1465872421, ¥ Il

1465872422, % I[SHIGTd

1465872423, % ¢TI

1465872424, % HAT

Question Number : 7 Question Id : 146587607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Name the folk dance form of Chhattisgarh in which the dancers form a circle each standing on one leg and supporting themselves by holding on
to the other in front and then they all hop together round and round.

Options :

1465872425, ¥ Karma dance
1465872426. * Hareli dance
1465872427. ¥ Saila dance
1465872428. # Kari dance

Question Number : 7 Question Id : 146587607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG & I AT BT ATH Fa1zy, o T T R IR TS IR 3R TR & (o8 TR P A F THSHR Udh g §1d g 3R fh
3 9t T 1Y M- Fad g I B & |

Options :

1465872425, % HRHT I

1465872426. ¥ Bl T

1465872427, ¢ JdAT I

1465872428. % D3I I

Question Number : 8 Question Id : 146587608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which among the following tribe of Bastar is the Kaksar folk dance popular?
Options :

1465872429. * Gond

1465872430. ¥ Abhujmaria

1465872431. * Bhatra

1465872432. * Halba

Question Number : 8 Question Id : 146587608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FAfIREd # I TR &1 D I SO HIHER dld T AT 52
Options :

1465872429, # g

1465872430. ¥ ATl

1465872431, % AT

1465872432, % godl

Question Number : 9 Question Id : 146587609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

As per the Constitution (Ninety-first Amendment) Act, 2003, the strength of cabinet in Chhattisgarh cannot exceed including the
chief minister.

Options :

1465872433, % 11
1465872434, ¥ 13
1465872435. % 15
1465872436. % 17

Question Number : 9 Question Id : 146587609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Gy (919 T=neF) AT, 2003 & SITAR, BTG | biaqe H HET & e JregwEt afgd T 31 T8 g1 ghd o |




Options :

1465872433, * 11
1465872434, ¥ 13
1465872435, % 15
1465872436. * 17

Question Number : 10 Question Id : 146587610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Under the Chhattisgarh Panchayat Raj Adhiniyam, 1993, it shall be the responsibility of the to convene the meeting of the Gram
Sabha at regular intervals as specified under this Act and, in case of his failure to do so, he shall be disqualified for holding the post.

Options :

1465872437. # District Collector
1465872438. # Tehsildar
1465872439. # Nayab Tehsildar
1465872440. ¥ Sarpanch

Question Number : 10 Question Id : 146587610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SURITG Uard 1o AT, 1993 & d8d, 39 Siffam & sidvia fAfdy Faflid siavrd &R U 9uT &t 96@ g Eal
STRETIE 81T 3R, T -1 814 & A1HA T, 38 3 Ug I a1 "ifvyd fasar o wehdi g |

Options :

1465872437, # TSI ®alaex
1465872438, % TgIIdER
1465872439, ¥ U9 dgdldeR

1465872440, ¢ T4

Question Number : 11 Question Id : 146587611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Under the Chhattisgarh Panchayat Raj Adhiniyam, 1993, who shall, by public notification, specify a village or group of villages to be a village



for the purpose of this Act?

Options :

1465872441. # Chief Minister
1465872442. # Speaker
1465872443, ¥ Governor of the state
1465872444, # Sarpanch

Question Number : 11 Question Id : 146587611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

@d‘]ﬂ%ﬂlqd ST AT, 1993 & T8, DI AdoHd IRRLEAT gR1 39 iffaw & vaomrd g a1 1idl & Tqg &1 7Tid & T |
fAféy ?

Options :

1465872441, % T-HEA!
1465872442, % TH
1465872443, ¢ T &b ITUT
1465872444, % IRUG

Question Number : 12 Question Id : 146587612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Under the Industrial Policy of Chhattisgarh State 2014-2019, ' ' means private and government land acquired outside industrial areas
for the purpose of projects related to manufacturing.

Options :

1465872445, # land resource
1465872446. ¥ land bank
1465872447. # land cartel
1465872448. # land syndicate

Question Number : 12 Question Id : 146587612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



TURIG T B MNfIH A 2014-2019 & T8, ! ' 1 STy fafafor & Sefda ufasrst & e & o sienfiie &t
& qTeR Sfiwfed Aol ok Rt Y T 7|

Options :

1465872445, % '-'i&[ IATY (land resource)

1465872446. ¢ & §& (land bank)

1465872447, % YT HICA (land cartel)

1465872448. % Y RfSPHE (land syndicate)

Question Number : 13 Question Id : 146587613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Under the Rajya Krishi Vikas Yojana for the Chhattisgarh State, more than farmers belonging to same category are eligible for
community fencing for maximum 5 acre of land.

Options :

1465872449. # two
1465872450. ¥ three
1465872451. * four
1465872452, * five

Question Number : 13 Question Id : 146587613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG o o FoIU I SN fasw ™y A1 & dgd, T 9of ¥ defda ¥ 31F fam ifdwad 5 Tdhs SHH & e ageiis
§1S T 8 UF 8Id g |

Options :

1465872449, % &

1465872450, ¢ 9

1465872451, ¥ IR

1465872452, % U

Question Number : 14 Question Id : 146587614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

In the 10th Global Agriculture Leadership Summit, the state of Chhattisgarh received the 'Horticulture Leadership Award' for which of the
following years?

Options :

1465872453, # 2016
1465872454, ¥ 2017
1465872455, # 2018
1465872456. # 2019

Question Number : 14 Question Id : 146587614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

109 m ?ﬁf ﬁaa RRIR I (Agriculture Leadership Summit) ﬁ, Foffed A feaav & fa @T‘ﬂw S A RCIEIR]] ﬁaa
YD (Horticulture Leadership Award)' T T

Options :

1465872453. # 2016

1465872454, « 2017

1465872455, # 2018

1465872456. # 2019

Question Number : 15 Question Id : 146587615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Two cities of Chhattisgarh have been mandated to be developed as solar cities under the 'Development of Solar Cities Programme'. One city is
Raipur. Which is the other one?

Options :

1465872457. # Kanker
1465872458. ¥ Bilaspur
1465872459. # Jagdalpur
1465872460. * Bhilai

Question Number : 15 Question Id : 146587615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

BTNTTG P &) TR DI UR BRI BT (GBI HRIGH & dgd UR el & ©U & RN foran 51 378 I T WX IR 8| G
TER DI 82

Options :

1465872457, % WHih

1465872458, ¥ Ta@QR

1465872459, % SATGAYR
1465872460. * TS

Question Number : 16 Question Id : 146587616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which of the following years did the Bhopalpatnam Struggle take place in Chhattisgarh?
Options :

1465872461. * 1876

1465872462. ¥ 1795

1465872463. * 1859

1465872464, * 1724

Question Number : 16 Question Id : 146587616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafeied o ¥ ford av & SxiiaTe § Y Tq Tay gaiT |
Options :

1465872461. % 1876

1465872462. ¥ 1795

1465872463. % 1859

1465872464. % 1724

Question Number : 17 Question Id : 146587617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Which of the following states is to the north of Chhattisgarh and shares boundary with it?
Options :

1465872465. ¥ Jharkhand

1465872466. * Bihar

1465872467. # Odisha

1465872468. * Andhra Pradesh

Question Number : 17 Question Id : 146587617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafeiad 7 @ oF I I SiiaiTe & SR | fRUd 8 3R 39 1y a1 Ireh ST g2
Options :

1465872465, ¥ IRTS

1465872466. * fagR

1465872467, % Il

1465872468, % 3{TY USRI

Question Number : 18 Question Id : 146587618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
is a famous ceremony of the Satnami community of Chhattisgarh.
Options :
1465872469. * Gendi
1465872470. * Kapalik
1465872471. ¥ Panthi
1465872472. # Karma

Question Number : 18 Question Id : 146587618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



BURIG b FTH! TG BT Th TRIG ARG 5 |
Options :
1465872469. ® TSt
1465872470, % HIUICIH
1465872471, ¢ Gt
1465872472, % HH

Question Number : 19 Question Id : 146587619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following folk dances of Chhattisgarh is performed by boys after harvest season?
Options :

1465872473, ¥ Saila Dance

1465872474, ¥ Karma Dance

1465872475. # Sua Nacha

1465872476. * Pandavani

Question Number : 19 Question Id : 146587619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafRed § I &I 91 BTG &1 A% Jd €, ol HUd &1 Hels & d1¢ a8H/ges! gRI faa SITdT 82
Options :

1465872473, ¢ I T

1465872474, % HH Id

1465872475, % 3T A

1465872476. % GSdL

Question Number : 20 Question Id : 146587620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following festival of Chhattisgarh commemorates the reunion of Lord Shiva and Goddess Parvati?



Options :

1465872477. * Madai
1465872478. # Bhoramdeo
1465872479. # Bustar Dussera
1465872480. ¥ Teej festival

Question Number : 20 Question Id : 146587620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FafaRed & 3 ST &1 HH 91 AgR HTaH R 3R <at Urddt & YATHe &1 ale § T STl 62

Options :
1465872477, % HSS
1465872478, # YA

1465872479, % §¥R XS]
1465872480, ¢ TS BT AER

Question Number : 21 Question Id : 146587621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following folk song of Chhattisgarh is sung to welcome new crops?
Options :

1465872481. ¥ Cher-Chera song

1465872482. * Rout Nacha song

1465872483. * Sua song

1465872484. * Swanahi song

Question Number : 21 Question Id : 146587621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T & Fufafad aietiial § @ &9 91 1id 73 B BT W B34 b 7T TR STdT 82

Options :




1465872481, ¥ S-W TMd
1465872482, % IS AT Md

1465872483, % 31 Tiid
1465872484, % Tl 1iid

Question Number : 22 Question Id : 146587622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

As on june 2020, how many National parks are there in Chhattisgarh state?
Options :

1465872485. # 11

1465872486. * 5

1465872487. ¥ 3

1465872488. * 7

Question Number : 22 Question Id : 146587622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I 2020 I i T &b TR, BIETE I H foba AP I A2
Options :

1465872485. % 11

1465872486. # 5

1465872487. ¥ 3

1465872488. * 7

Question Number : 23 Question Id : 146587623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a major export of Chhattisgarh?
Options :

1465872489. * Fruits



1465872490. ¥ Silk and handicrafts
1465872491. # Blended yarn
1465872492. % Mineral oil

Question Number : 23 Question Id : 146587623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafifed § @ HF sige &1 uae Fafd T8 22
Options :

1465872489, # Thel

1465872490. % IIM 3R TR

1465872491, % o gd

1465872492 ¢ @S 3¢

Question Number : 24 Question Id : 146587624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a division of Chhattisgarh state?
Options :

1465872493. # Surguja

1465872494, # Bastar

1465872495. ¥ Korba

1465872496. # Durg

Question Number : 24 Question Id : 146587624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafeiad 7 ¥ o S<iITe T &1 T GHTT 81 82
Options :

1465872493, % AT

1465872494, % TXR




1465872495, ¥ HRET
1465872496, ¥ gl

Question Number : 25 Question Id : 146587625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Where in Chhattisgarh, the first geothermal power project is proposed to be set up with NTPC?
Options :

1465872497. ¥ Dhantewada

1465872498. ¥ Balrampur

1465872499. * Bhilai

1465872500. * Rajpuria

Question Number : 25 Question Id : 146587625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FARATG T NTPC & I1Y Ugdl! Y-d1dTg faggd ulaismT wal RAfid & &1 Udrd ]2
Options :

1465872497, % dddrsl

1465872498. ¢ TR
1465872499, % fidme

1465872500. * oY 1

Computer Knowledge

Section Id : 14658726
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25

Number of Questions to be attempted : 25



Section Marks : 25

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 14658726
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 146587626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The output generated through printers or plotters are known as:
Options :

1465872501. * Soft copy

1465872502. ¥ Hard copy

1465872503. * Virtual copy

1465872504. * Imaginary copy

Question Number : 26 Question Id : 146587626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fifex a1 wilex I I 3M3¢Ye Bl FHET AT g |
Options :

1465872501, % TGS HIUI (Soft copy)

1465872502 ¢ BTS B! (Hard copy)

1465872503. ® TYIA PIUT (Virtual copy)

1465872504, % ZURTRY AT (Imaginary copy)

Question Number : 27 Question Id : 146587627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following port enables you to connect to wired networks to share computer resources or Internet connections?
Options :

1465872505. # USB



1465872506. * S-Video
1465872507. ¥ RJ-45 (Ethernet)
1465872508. * VGA

Question Number : 27 Question Id : 146587627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
ﬁgﬁﬁﬁ:{wtn—ccWWW@WWW@WW%WWW(WH& network)ﬁmmﬁﬂ&m
CEIGIK

Options :

1465872505. ¥ USB

1465872506. % S-difedl

1465872507, ¢ RJ-45 (3UTAT)

1465872508. * VGA

Question Number : 28 Question Id : 146587628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are TRUE?

(1) OMR is a technique which recognizes a pre-specified type of mark made by pencil or pen.
(i1)) OCR-A and OCR-B are two standard fonts used by OMR.

Options :

1465872509. # Only (i)
1465872510. # Only (ii)
1465872511. % Both (i) and (ii)
1465872512. # Neither (i) nor (ii)

Question Number : 28 Question Id : 146587628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fFafifed 3 9 o9 Y Sy a8



(i) OMR U} dd-iiep g, St Uyt a1 o g1 fAiftfd ga-fAfiEy weR & =i &t ugae &=t ]
(ii) OCR-A 3fR OCR-B &I HFd i< g, ST ST OMR gRT fHar Sar g1

Options :

1465872509. # Hdd (i)

1465872510. ® dd (ii)

1465872511. ¢ (i) 3R (ii) I

1465872512, % 941 (i) T &I (ii)

Question Number : 29 Question Id : 146587629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is FALSE?

Options :

1465872513. # A magnetic tape is a continuous medium which records data serially.
1465872514. % There is no addressing in magnetic tape.

1465872515. % Magnetic tape is generally used for data backup purpose.

1465872516. ¥ A magnetic tape consists of vertical columns called channels or tracks.

Question Number : 29 Question Id : 146587629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafeiEd § 4 B9 91 Sy 3 22

Options :

1465872513, # Wé—q(magnetic tape)wmm%,ﬁﬁWW@éaWW%l
1465872514, % 41 ¢q H dis it TSR 78 Il ]

1465872515, % YEHIg U BT IUTNT YTHII: STT IH3M0 & 3539 & U BT 7
1465872516, ¢ GaHIT ¢U | Aadd WY (PIH) B &, ol o= I1 ¢ Pl oIl g |

Question Number : 30 Question Id : 146587630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT a unit to measure CPU speed?
Options :

1465872517. * MIPS

1465872518. * MFLOPS

1465872519. * GHz

1465872520. ¥ GB

Question Number : 30 Question Id : 146587630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafefad ¥ @ & A cpu Bt T Ao BT 3618 TR 72
Options :

1465872517. % MIPS

1465872518. * MFLOPS

1465872519. * GHz

1465872520. ¥ GB

Question Number : 31 Question Id : 146587631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following options best describes the truthfulness of the following statements?

(1) Disk tracks are numbered consecutively from outermost to innermost starting from zero.
(i1) Disk tracks are numbered consecutively from innermost to outermost starting from zero.

Options :

1465872521. # (i) - TRUE; (ii) - TRUE
1465872522. ¢ (i) - TRUE; (ii) - FALSE
1465872523. # (i) - FALSE; (ii) - TRUE
1465872524. # (i) - FALSE,; (ii) - FALSE

Question Number : 31 Question Id : 146587631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
fFufefead & 9 & a1 fawey 3T 7T HY=T & IId &1 Jaiad 9ui BT 82

(i) FS%F <& B T T L= TP JRIGH U SHdRdH db JUTHH HHITehd [hdl SIdT 5 |
(i) P ¢ &) I T T B SiaRad 3 STelaH db TUTeHH HHifd fal S 8 |
Options :

1465872521, # (i) - 9; (i) - T

1465872522, ¢ (i) - T (ii) - 3TA

1465872523, % (i) - 319T; (i) - A

1465872524. % (i) - 31TT; (ii) - A

Question Number : 32 Question Id : 146587632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following language is NOT used for web programming?
Options :

1465872525. % Java

1465872526. ¥ C

1465872527. % ASP

1465872528. # JavaScript

Question Number : 32 Question Id : 146587632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frfefad & 9 fog yiwT (diaen) ST SudiT 3« Ui & fore 8t gl 82
Options :

1465872525, ¥ Idl (Java)

1465872526. ¥ C

1465872527. % ASP

1465872528. % SIAIRPY (JavaScript)

Question Number : 33 Question Id : 146587633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Match the columns.

a) PHPS 1) Lightweight data-interchange format

b) JISON ii) Object-oriented scripting language

¢) Assembly iii) Cascade Style Sheets

d) CSS iv) Machine dependent language
Options :

1465872529. ¥ a—ii; b—1; c —iv; d —1iii
1465872530. ®* a—1i;b—1ii; c —iv; d —1iii
1465872531. * a—ii,b—1; ¢c—1iii; d —iv
1465872532. ®* a —iii;b—1i;c—iv; d -1

Question Number : 33 Question Id : 146587633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FITAT T T FL
a) PHP5 |i) o83 2a0-325 BIHS
b) JSON |ii) 3Teatere-xINves EFfer s

c) FUF |iii) FrFz TS ofiey

d) CSS iv) Iefe f2dse seaw

Options :



1465872529. ¥ a—ii; b—1i; c —iv; d —iii
1465872530. #* a—1i;b—ii; c —iv; d —iii
1465872531. # a—ii,b—i;c—iii;d—1iv
1465872532. # a—iii;b—i;c—iv;d—1

Question Number : 34 Question Id : 146587634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SGML stands for

Options :

1465872533. ¥ Standard Generalized Markup Language
1465872534. # Structured General Markup Language
1465872535. # Standard General Mode Language
1465872536. # Structure Generalized Mode Language

Question Number : 34 Question Id : 146587634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SGML &1 quf &1 gl

Options :

1465872533. ¥ Standard Generalized Markup Language (‘&?iUSSr EERGIESS] ATh30 ?l"&\ﬂ)
1465872534. # Structured General Markup Language (Eﬁﬂé EREGREICZEL a’aﬁ‘l‘)
1465872535. # Standard General Mode Language ((USS SR HIS dvde)

1465872536, # Structure Generalized Mode Language (IR SFRATZS HIS A1do)

Question Number : 35 Question Id : 146587635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify whether the following statements are TRUE or FALSE.

a) JSON is JavaScript Object Notation.



b) Redis is an open source, in-memory data structure store.
c) F# is functional programming language created by Sun Microsystems.

Options :

1465872537. ¥ a) — TRUE; b) — TRUE; c¢) — FALSE
1465872538. # a) — TRUE; b) — FALSE; c¢) — FALSE
1465872539. # a) - FALSE; b) — TRUE; c¢) — FALSE
1465872540. ¥ a) — TRUE; b) - TRUE; ¢) - TRUE

Question Number : 35 Question Id : 146587635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

U fob FEfRad &Y= T § a7 SRTd |

a) JSON, STaTf&pY 3fisaide AT B

b) AT (Redis) T 3T TR, T7-90RY ST WRR TR |

¢) F#, I ATsohIRerg gRT Afifd thawma uRnfET y (o) 8|
Options :

1465872537. ¥ a) — ¥, b) — ¥, ¢) — AT

1465872538. ¥ a) — I b) — 3T; ¢) — 3

1465872539. % a) — 3W; b) — IT; ¢) — 3

1465872540. # a) —Id; b) - Id; ¢) - I

Question Number : 36 Question Id : 146587636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Identify whether the following statements are TRUE or FALSE.

a) FORTRAN programming language was developed at IBM.
b) C++ is partially object-oriented programming language.

c) ASP is server-side scripting language

d) Java language was developed by Microsoft.

Options :

1465872541. ¢ a) — TRUE; b) — TRUE; ¢) — TRUE; d) — FALSE



1465872542, % a) — TRUE; b) — FALSE; ¢) — FALSE; d) - TRUE
1465872543, % a) — FALSE; b) — TRUE; ¢) — TRUE; d) — FALSE
1465872544, % a) — FALSE; b) — FALSE; ¢) — FALSE; d) - FALSE

Question Number : 36 Question Id : 146587636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

U™ fob FEfiRed &Y= 9 § a1 ST |

a) RS (FORTRAN) TN HTHT (civaeT), 31Ts. &g, (1BM) H fawRid g8 ot
b) C++, 3R U Y 3HTeoide-3MRTes WA HIWT (<ae) B

¢) ASP, TS BT 11w @) 21

d) STTQT HTST (S7aoT), ATEshIaTTe g1 fasfd &t 715 ot

Options :

1465872541. ¥ a) — Td; b) — Id; ¢) — Id; d) — I

1465872542. % a) —{d; b) — 3, ¢) — AI; d) - I

1465872543, # a) — 3{d; b) — Id; ¢) — I, d) — 3HI

1465872544, % 2) — 3T; b) — 3T; ¢) — AT, d) — 3TT

Question Number : 37 Question Id : 146587637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Website used for selling products is termed as
Options :

1465872545. ¥ Ecommerce Website
1465872546. ¥ Web browser

1465872547. % Search Engine

1465872548. # E-Governance website

Question Number : 37 Question Id : 146587637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



TG ! SA & o1 SYTRT DI ST aTel daTge Bl HeI S 5|
Options :

1465872545, ¢ SHIAY d9ITEC

1465872546. # A9 FTISIR

1465872547, % T SoH

1465872548, % SI[G-Y deI3C

Question Number : 38 Question Id : 146587638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which language/ software is used for developing web pages?
Options :

1465872549. ¥ HTML

1465872550. * C

1465872551. # COBOL

1465872552. % SQL

Question Number : 38 Question Id : 146587638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

99 U9 faaid = & for forey wTeT/AToeaaR &1 SUANT §iaT 82
Options :

1465872549. ¥ HTML

1465872550. * C

1465872551. * COBOL

1465872552. # SQL

Question Number : 39 Question Id : 146587639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In search engine optimization spiders are also called as or
Options :




1465872553. ¥ robots, crawlers
1465872554. % worms, viruses
1465872555. % crawlers, viruses
1465872556. # wanderers, climbers

Question Number : 39 Question Id : 146587639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T Soi HTPHERH H Wget & q N BT B |
Options :

1465872553. ¢ AT, HIeR (robots, crawlers)

1465872554, % GH, GY (worms, viruses)

1465872555, % HIGR, A (crawlers, viruses)

1465872556, % dTSR, FATeaR (wanderers, climbers)

Question Number : 40 Question Id : 146587640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A is a set of rules that governs the communications between computers on a network.
Options :

1465872557. ¥ protocol

1465872558. ¥ RFC

1465872559. % Standards

1465872560. # Session

Question Number : 40 Question Id : 146587640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
, ot &1 g §, S e IR SR & S YaR &I Had sRarg |
Options :

1465872557, ¢ UIcibId




1465872558. ® RFC
1465872559, % WUSS

1465872560. % IRE

Question Number : 41 Question Id : 146587641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The operation of the Internet is monitored closely by the routers. When something unexpected occurs during packet processing at a router, the
event is reported to the sender by the protocol.

Options :
1465872561. ¥ ICMP
1465872562. ¥ SMTP
1465872563. * FTP
1465872564. * HTTP

Question Number : 41 Question Id : 146587641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3R GRT Zee & e &t TRISt J AR o1 91t 81 916 T8ex R U MRRI & SRM $3 3FUfed gidT 8, Y I &t
el ld gRT Ul Bt Ja-T el 8|

Options :

1465872561. ¢ ICMP

1465872562, % SMTP

1465872563, ® FTP

1465872564, % HTTP

Question Number : 42 Question Id : 146587642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an application layer protocol?
Options :

1465872565. # FTP



1465872566. ¥ HTTP
1465872567. ¥ SMTP
1465872568. ¥ ICMP

Question Number : 42 Question Id : 146587642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fofad # Q I 91 Tl ¥ TR UIciepld 81 52
Options :

1465872565. % FTP

1465872566. ¥ HTTP

1465872567. ¥ SMTP

1465872568. ¥ ICMP

Question Number : 43 Question Id : 146587643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The obvious advantage of the Windows Operating system's Recycle Bin is the ability to
Options :

1465872569. ¥ Recover deleted items

1465872570. ¥ Compress the files

1465872571. * Encrypt files

1465872572. % Version the deleted files

Question Number : 43 Question Id : 146587643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Windows SHTIRIET RieeH SmIHd 97 &1 el 311 BrIal B B &I 5
Options :

1465872569. ¢ f&diic fbU U 3gery ot Revart

1465872570. % WHIed Bl HUY




1465872571, % WIS Pl Uf<hHY
1465872572, % BCTS 1T WIgdl bl IXHRIVIT

Question Number : 44 Question Id : 146587644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a standard category of computer language?
Options :

1465872573. # High level language

1465872574, ¥ Medium level language

1465872575. # Low level language

1465872576. # Assembly language

Question Number : 44 Question Id : 146587644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fraffad 7 3 B9 @ e Ja 31 Te ArD Ao T 32
Options :

1465872573, % Bls-Alad alidel

1465872574, ¢ HfSTA-dgd Ao

1465872575. % Wl-dd qiaol

1465872576. # 3Tl civaSt

Question Number : 45 Question Id : 146587645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Embedded software is used in:

Options :

1465872577. # On-line Railway Information System
1465872578. ¥ Mobile Phones

1465872579. # E-learning software



1465872580. ¥ Websites

Question Number : 45 Question Id : 146587645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TS S UeddR &1 UGN # fpar Smar g1
Options :

1465872577, % 3{IAclTS XdId a1 YoITeit
1465872578. ¢ HIESd B

1465872579, # S-@f-T] GedaR

1465872580, ¥ AGHTSC

Question Number : 46 Question Id : 146587646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is a Diagnostic Software?
Options :

1465872581. # Ubuntu

1465872582. % Oleo

1465872583. ¥ Norton Antivirus

1465872584. # Unix

Question Number : 46 Question Id : 146587646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fafafed & § oF 91 T ST IitedR 82
Options :

1465872581, % Jd¢ (Ubuntu)

1465872582. % 3fferdl (Oleo)

1465872583, ¢ HAle USIARIRY (Norton Antivirus)
1465872584, % AR (Unix)




Question Number : 47 Question Id : 146587647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In MS-Word, which of the following is not a valid paragraph indent option?
Options :

1465872585. % Left

1465872586. # Right

1465872587. ¥ Hanging

1465872588. ¥ Bottom

Question Number : 47 Question Id : 146587647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafefad o § S T MS-Word &1 T 98 TRENE §s¢ fddhed T8l 82
Options :

1465872585, % AU

1465872586. % T3¢

1465872587, # gfT

1465872588. ¢ dicH

Question Number : 48 Question Id : 146587648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In MS-Word, the text that is written above the original line is called
Options :

1465872589. # Subscript

1465872590. ¥ Superscript

1465872591. * Ttalic

1465872592. # Strikethrough

Question Number : 48 Question Id : 146587648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
MS-Word H 39 TRe &1 o1 FHel ST &, o Jot Ufad & SHuR forar Sirar g2

Options :

1465872589, % TSGHY
1465872590. ¥ JURIEHY
1465872591, # Seferem

1465872592, % WRHY

Question Number : 49 Question Id : 146587649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In MS-Word, what is the meaning of Line spacing 1.5?
Options :

1465872593. ¥ One and half times of single line spacing
1465872594. # Double line spacing

1465872595. # Triple line spacing

1465872596. # Single line spacing

Question Number : 49 Question Id : 146587649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

MS-Word H, S5 TR 1.5 BT T 37 52
Options :

1465872593, ¥ S¢ Tl <lTs- WRHT
1465872594, % GR[A! cTg- TR
1465872595, % T T[T 3T WA
1465872596, % TR @e-1 R

Question Number : 50 Question Id : 146587650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

In PowerPoint 2016, Which of the following menu holds 'screenshot' option?
Options :

1465872597. ¥ Home

1465872598. ¥ Insert

1465872599. # Design

1465872600. # Animation

Question Number : 50 Question Id : 146587650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

PowerPoint 2016 B, “Tp-Rie’ faswey foyg A & Mg gidT 82
Options :

1465872597. % B

1465872598. ¢ 3¢

1465872599, % fSmga

1465872600. # THIHRH




